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GENERAL INSTRUCTIONS :

L. Question paper is divided into 5 sections A ,B,C,D&E

1. In section A question number 1 to 3 are Very Short Answer type questions. Attempt
any 3 questions.

1. In section B question number 4 is Source based question.

V. In section C question number 5 & 6 are Short Answer based questions.
V. In section D question number 7 to 9 are Long Answer based questions.
VL. In section E question number 10 is a Map based question.
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SECTION A (VSA)
Attempt all questions 2x3=6
1) Explain the concept of high technology industry with any two examples.
freel ar SeTerun Afed Soa HenfidhT SeT $l Fahed=T df T BT |
2) Write down any two features of modern large-scale manufacturing
IMYfAhas YA X gled ared  3MYfsh fafasAior v fheet & faQrwamsit &
faf@T |

OR (37fam)

How does 'accessibility to raw material’ affect the location of large-scale industries? Explain
by giving any two reasons



‘FTAATA HT IIfed &1 AfATFIAr fFa 9FR 93 YA & 3 Hr
Jafeafad it genfad wIch & 2 fhedl a7 RO gaRT TIse HRISY |

3) Explain any two features of service sector.

Qar &7 Hr fhegl o faAVdsit &1 guie RifFd |

Section-'B' (Source Based Questions)

Outsourcing or contracting out is giving work to an outside agency to improve efficiency
and to reduce costs. When outsourcing involves transferring work to overseas locations,
it is described by the term off - shoring, although both off - shoring and outsourcing are
used together. Business activities that are outsourced include information technology
(IT), human resources, customer support and call centre services and at times also
manufacturing and engineering. Data processing is an IT related service easily be carried
out in Asian, East European and African countries, In these countries IT skilled staff with
good English language skills are available at lower wages than those in the developed
countries. Thus, a company in Hyderabad or Manila does work on a project based on
GIS techniques for a country like U.S.A or Japan. Overhead costs are also much lower
making it profitable to get job-work carried out overseas, whether it is in India, China or
even a less populous country like Botswana in Africa.

Answer all the questions

4.1 What is the main aim of Outsourcing?

4.2 What factors are primarily responsible for performing data processing in Asian, Eastern
European and African countries?

4.3 Which trading activities are carried out by outsourcing? Explain briefly.
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Section 'C' (Short Answer Question)
Question Nos. 5 and 6 2x3=6
1) 'The Rhine Waterway is the most used waterway of the world'. Describe the
importance of this route by any three points.
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2) Give the types of minerals based on physical and chemical properties. Also
justify the importance of non-conventional sources of energy in today’s world
by giving any two points.
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OR (37ydr)
What do you mean by the conservation of mineral resources. Also
suggest any two appropriate measures of conservation of mineral
resources.
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Section 'D' (Long Answer Question)

ved HEAT 79 9 3x5=15
7) Define tourism. Analyse any four factors in detail that affect tourism

Wed & IRATNT Ao | e & gHTad e ate fahegl RN Sl
TR & e fifS |

1) What do you understand by slums? Describe any four problems faced by
slum dwellers.
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(OR) 3rrar



What do you understand by solid waste? How is it responsible for
environmental pollution? Provide information about two sources of solid waste
disposal.
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9) Highlight the important features of Hill Area Development program.
UETST &1 T SRishA $H Agcaqul [AATABIT 1 3SPR Hif |

Section E (Map)
10) On the the given map of India, show the following (Show any five) 1x5=5
I.  Copper mine located in Rajasthan
IIl.  The state with the lowest population density level in India
lll.  City with a population of more than 1 crore located in Karnataka
IV. A coal mine located in the State of Jharkhand
V.  The northern-most centre of the north-south corridor
VI.  The refinery located in Gujarat.

T T 9RT & AT W ATAREAT # S UBU (HI$ 9T gABT)  1x5=5
1) TSTEATHAH TEIT dre Fr @ret

2) HRA & GaIH H JTAGEIT Gelcd o T dTell g

3) Foilceh H YT 1 FUT T 318F STATEIT aTell 7R

4) SIRES T H TIT Fgel AT Tl

5) 3R SfA0T ATAAR FT ITRAH Fg

6) ISRIT H TEIT ToIMYsT ATell

In place of question no. 10 for visually impaired students (Any five to be done)
1x5=5

1) Name the copper mine in Rajasthan

2) which is the state with the lowest population density in India?

3) Which is the city with a population of more than 1 crore in Karnataka?
4) Name a coal mine in Jharkhand?

5) Name the centre located at the northern end of the North-South corridor.
6) Write the name of the refinery located in Gujarat.
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3) FATeHARTIT 1 FUE T HWF FATEIT drell AR hisT AT § ?
4) FRWUS H [UT Th STl HT @A Hl ATH Ty ?
5) IAR-GIaT IR & 3a BR W YT &g H AT Iz |
6) ISRIT H TEIT TeTMYUT ATell T AT AT |







